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The foilowing are ordinary physics problems Place the answer in scientific notation when appropriate and
simplify the units (Scientific notation is used when it takes less tlme to write than the ordinary number does.

As an example 200 is easier to write than 2.00x10% but 2.00x10® is easier to write than 200,000,000). Do your
best to cancel units, and attempt to show the simplified units in the final answer.
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Often problems in physics are done with variables only. Solve for the variable indicated. Don't let the different
letters confuse you. Manipulate them algebralcally as though they were numbers.
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3. Science uses the MKS system (SI: System Internationale). MKS stands for meter, kilogram, second. These
are the units of choice of physics. The equations in physics depend on unit agreement. So you must convert
to MKS in most problems to arrive at the correct answer.

kilometers (km) to meters (m) and meters to kilometers gram (g) to kilogram ( kg)
centimeters (cm) to meters (m) and meters to centimeters Celsius (°C) to Kelvin (K)
millimeters (mm) to meters {m) and meters to millimeters atmospheres (atm) to Pascals (Pa)
nanometers (nm) to meters (m) and metes to nanometers liters (L) to cubic meters (m°)

micrometers (um) to meters (m)
Other conversions will be taught as they become necessary.

What if you don’t know the conversion factors? Universities want students who can find their own information (so
do employers).

Enjoy.
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6. Solve the following geometric problems.

a. Whatis angle 6 ? 30°
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b. How large is 67
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c. The radius of a circle is 5.5 cm,
i. What is the circumference in meters?
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ii. Whatis its area in square meters? i
i 3 —
T((gg) OVH?,: ?{ﬂﬁ Cur = ?{o;[mﬂm) 4 ” ,//f)[#“'/{
d. What is the area under the curve at the right? :;’)’ 3% (0"‘!‘{%?, fh( 2 =2 2 L
IE 2 —
é‘/M rﬁfﬂ}X("}V‘T
]l 0




